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AT & HIAT STETRehdl

- PART-A: GENERAL AWARENESS

1. In which one of the following regions | 1. AR T Fa ay & ﬁﬁg T
does the Indus River originate? AT JegTH T &2
(A) Ladakh (A) ==
(B) Lahul (B) cmgler
(C) Nepal (C) =grer
(D) Tibet (D) fyeaa
21,{“ Which one of the following places is 2. rafaf@a & & 99 @ ' W
’J_ famous for production of railway Tt ¥ e & v 9RE &7
coaches?
(A) Nasik (A) il
(B) Kapurthala (B) =ryzuem
(C) * Kolkata (C) =reremrar
(D) Bhubaneshwar (D) aia;’ﬁa-{
3./ The term ‘Operation Flood’ is associated 3. 'O ol oee fhad Eeefed §7
with
(A)  Blue Revolution (A) el wifar
(B) Golden Revolution (B) Fa’ﬁﬁﬂ Fifer
(C)  White Revolution, (C) <3 HfT
(D) Yellow Revolutidn (D) el it
4, Which is the only Union Territory to 4. THHATT +g Qnﬁm' geor for@errT 39er
" have a High Court of its own? I =RIeT &
(A) Chandigarh (A) wErTg
() Delhi (B) Rl
() Andamah & Nicobar (C) 3EamE 3R AaER
(D) Lakshadweep (D) wraTEd™
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T 7 Japan Parliament is known as 5. ST T §ES F Fer Sl &
J (A) Diet (A) =Ee

(B) Dail (B) et

(C) Yuan (C)  gameT

(D) Shora (D) emT
6.{/"" Who was the architect of Taj Mahal? drsl HAgel BT AEIHN T 2T?
. (A) Ustad Ahmad Lahouri (A)  3ITaE HeAS RN

(B) Norman Foster (B) AT PIEeT

(C) Henry Irwin (C) =1dr st

(D) Shah Jahan (D) emgaTaT

7./ Indonesia was a colony of which of the S GIEE eI CIICR] i O R &er &l
' following countries? Sqfder an ,
(A)  Spain (A)  w=
(B) Dutch (B) ==
(C) Portugal (€) t_‘,ﬁ"’ﬂﬁ
(D) Belgium (D) sfesw#
8.; Which of the foliowingr is paired SrATatET § ¥ Pl ar Ted ale ¥
incorrectly? Sirer o &2
" (A) Pannalal Ghosh — Flute (A)  YesATolTeT OV - anqifr
(B)  Guru Gopi Krishna — Kathak (B) TE adr FOT - HUR
(C)  Nikhil Banerjee —Santoor (C) TR saif - qqr-!g
(D) Nandalal Bose — Painting (D) o a9 - FFHRRT
9. . The sum total of incomes received for 5, aiﬁir ar q‘\sﬁ & Jast & v

the services of labour, land or capital in
a country is called
(A) gross domestic product

mvcrmar@aﬁmm%:

(A)  @ehel TR 371G

(B) national income (B) =& 3T
(C)  gross domestic income (C) Femer ®Ye 3T
(D) gross national income (D) Temor TUSCIA FAS
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10. ,

1y,

12

13/

14.

" Peroxyacetyl nitrate is a

(A) acidic dye

(B) secondary pollutant

(C)  plant hormone

(D) vitamin

Members of the Union Public Service
Commission are appointed by the

(A)  President

(B)  Prime Minister

(C) Chief Justice

(D) Law Minister

The total energy of an electron inside an
atom is

(A) zero

(B) more than zero

(C) less than zero

(D) Infinite

A perfectly competitive market has
(A) onlyone seller

(B) atleast afew sellers

(C)  many buyers and sellers

(D) firms that set their own prices

In a recession, GDP

(A)  Grows negatively
(B) Grows slowly

(C) Grows rapidly
(D) None of these

10.

11.

12,

13.

14.

WiFdTificss Agee wF
(A) 3T 318

(B) gfacdie gy

(C) gy gl

(D) faerfder

WY ol HAT T & deEdt
ffaa frae garT $r ST 87

(A)  Tegofa

(B) gerrTaaT

€ HrF Ifeew

(D)  &lefeT HAT

o

USH AT & e U Folehelel I Fol
Foll gl &

(A) =

(B) g & o7 =

C) o & o

(D) 3ia

v QUi Wi Ao Aeg ¥

(A)  &ae T fashar

(B) v\ & %A Fo fashar

(C) =g @Wier 3R fagar

(D) ¥ Fuferaf o 3N FHd T
AR FLe &

ey &, S

(A)  TPREAS & § Toar ¥
(B) ¢fR-¢iR sgar ¥

(C) a5 & sgar &

(D) s & S aigr
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19

161

48,

19,/

17

When the barometer reading dips
suddenly, it is an indication of

(A) hot weather

(B) calm weather

(C) Storm

(D) dry weather

Ice is packed in saw dust because

(A) saw dust will not get melted easily

(B) saw dust is poor conductor of
heat

(C) saw dust is a good conductor of
heat

(D) saw dust does not stick to the ice

‘Who is first to introduce the concept of -

Cold War,
"Stereotype”?

coining the  term

(A) Attlee
(B)  Paul Kennedy

(C) Walter Lippmann
(D) Thomas Friedmann

Who is author of the book ‘-The Politics
of Extremism in South Asia’?

(A)  Shashi Tharoor

(B) Kushwant Singh

(C) Nirupama Rao

/(D) Deepa M. Ollapally

Which is the India’s first newspaper? .

(A) Hindustan Times
(B) Indian Expre.ss
(C) Deepika

(D) Bengal Gazette

15.

16.

17,

18.

19.

s9 e @ A e &A@
ST 8, sHeT Hehdl &

(A) et AtaH '

(B) erid AIEH

(C) 3meh

(D) grea HiwH

aﬁﬁgﬁﬁsﬂﬁvﬂﬁﬁmm
& Faife el

(A)  oRreT AR A el e

(B) gﬂamﬂwm%

(C) Wmmmm%

(D) arer it o FAen S §

EREeET e @ T FA gU
Mg qg N IAURCT F TEGd F
arer Ugol St FieT A?

(A)  weelr

(B) dfer &heisT

(C) areex fau#Ha

(D) afed shISHT

= dRReE G EdEeH o

A3 UfAAT GEd & AW Pl 67
(A)  orfr 9wt

(B) werdd A

(C) feuaT T

(D) & wA. eemdeer

R FT Ugell THAER UF HieT AT 87

(A)  TgEdrer Tsrd
(B) st vwaw

(C) &%t
(D) &3 ISiC
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gp Who among the following-.was not a 20. f=RRT 7 O 9 Ird gfaus
member of the Drafting Committee of £ UIETOT AR FT TEET AS A
Indian Constitution?
(A) B.R. Ambedkar (A) @3R3z HT
(B) Ailadi Krishnaswamy - (B)  3fedrer m
(C) Rajendra Prasad (C) g ygE
(D) Gopalaswamy Ayyangar (D) 9NYTeRaTHT 3R
.,2&“1".;. Which | was described by [21. & €ra s & Y gRue @
‘ Dr. B. R. Ambedkar as the ‘heart and e 3R AT ST AT ‘
soul” of the Constitution?
(A) Right to Equality (A)  gATTAr &1 H8SER
(B) Right Against Exploitation (B)  woT & fd%g TR
(C) Rightto Cohstitutional Remedies (C) e IUURT &7 THR
(D) Right to Freedom of Religion (D) e & T&IFaT FT IOFR
22}.};{ Who appoints Secrétary Genel;al of the 22, aiaa—\rrm & FARERT &I ﬁqﬁ?r @i
Lok Sabha? T &2
(A) Deputy Speaker (A)  3umeTer
(B) Speaker (B) geFar ;
(C) President (C) Irseufar
(D) Leader of Ruling Party (D) gcarse o & dr
2?'. The Government of India Act, 1935 was 23. HRT W =TI, 1935 iTr=diery
“ basedon TR o '
(A)  Simon Commission (A)  wEHT FHR
(B) Lord Curzon Commission (B) lig Shotel ITAET
(C) Dimitrov Thesis (Q) %ﬁﬂ‘]‘q’ Nag
(D) Lord Clive’s report (D) @S Fomsg Hir RAE
S
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24. A person to be qualified for standing in a
Panchayat election must have attained
the age of
(A) 21vyears

(B) 18 years
(C) 25 years
(D) 30vyears

25, Cattles are capable of digesting cellulose
present in the grass and / or fodder that
they eat. This ability is attribute to the

(A) presence of cellulose digesting
bacteria in the rumen

(B) production of cellulose by the
rumen
(C) acids present in the rumen

(D) prolonged retention of cellulose in
the rumen

26. / Which of the following has the most
penetrating power?
(A)  o-particles
(B) B-particles
(C) y-particles
(D) All of the above

27. N The blackboard seems black because it
(A) reflects every colour

(B) does not reflect any colour

(C) absorbs black colour

(D) reflects black colour

24,

25,

26.

27.

TR I A @S gl & AT aey
cafad 1 3 el gl wifge

(A) 21 ay

B) 18 a¥

(
A€) . 25 9%
(

D) 30 a¥

A 3T EIRT WIT S drel =91

3R/ AR 7 Alse Aegellst S ==

# TarA I B AT &

(A) AT A Yool TR A
STraropst &1 sureta

(B) A Z@RT Yegailsl HT Scdrcet

(C) w8 & dieg s
(D) %A # Acgellsl H o AT
CEACEIRGT

Pefof@a & & fradhr de afFd
qau 3fF 872

(A)  o-=orl

(B) p-soT

(C) y-chUT

(D)  Iurera &l

Fars gataT Fer Rwrs &ar §

(A) & T A Waldd #ar §

(B) fREr s o7 @ wafdd S
h{dl

(C)  =hrer 3oT T WG ol ¢

(D) erel 39T A WEfdd &
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28,

29

-
-

Total internal reflection cannot take
place when light goes from

(A) glass to water

(B) water to glass

(C) water to air

(D) glass to air

Asbestos is formed of

(A) Calcium and Magnesium

(B) Copper, Zinc and Manganese
(C) Leadand lIron

(D)  Calcium and Zinc

A passenger standing in a bus is thrown
outward when the bus takes a sudden
turn. This happens due to

(A) outward pull on him
(B) inertia of motion
(C) change in momentum

(D) change in acceleration

Electric current in a metal wire is due to
the flow of |

(A)  Electrons

(B) Protons

(C) Ion;s

(D) Holes

28.

29.

30.

31.

qUT iR U Ael g1 Whal o
YEHIRA T JAL I ¢

(A) T & SeT @ 3R

(B) & & & @r AR

(C) STer @ 9g T IR

(D) @ A AR

TEIEEH @1 AT grar ¥
(A)  $Hierm 3 AR
(B) e, sreT 3 Hehe
(© e 3t o

(D) %ferm iR Biw

S ¢ 3Tl Hol § Al o6 A W
IET ATET AT R TR Ser g1 e 51
HROT gIeT &

(A) 3@ = SEdr R

(B) wRePoE

(€) sitesr # wRader

(D)  waor # uRade

ag & dR & fdegd urT fhass yarg
g gIam 82
(A)  gorrglel
(B)  wreme

Q) e

(D). f&
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32,/

‘33,

Which one of the following is not a basic
feature of the Indian Constitution?

(A) Presidential government

(B) Federal government:

(C) Parliamentary government

- (D) None of these

Plants are greeh because of the

~ presence of a pigment called

34./
/

(A) Glucose
(B) Nitrogen
(C) Chlorophyll

(D) Oxygen

ISRO stands for

(A) International Scientific Research

Organization

Research

(B) Indian Science
Organization

(C) Indian Space Research
Organization

(D) International Space Research

Organization

32,

33.

34.

Tfaf@a # ¥ @la-dl & HRAT
TAEeT &1 e fAAvar e 87
(A) SR IaeHT

(B) HHT HIHR
(C) FEET TR
(D) =1 § +IS gl

frg aviE 7 3ufeUid & HRor O
& Bid 87
(A)  TomIaT

(B) =SS

(C)  Feifther
(D) i

ISRO &1 Rreaia &9 &:

(A)  ITeRTET Hﬁﬁaﬁﬂﬂlﬂ'
HITST

(B) R faaATeT TaEe Haree
(C) s 3tafer JgaensT Harae

(D) 3feRTsErr 3afier Jegaers Harse

10
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35/ Which treaty was signed on 28 June 35. 28 37 1919 & fFw Wi W gFamR
>/ :
19197 far I 92
(A) Vienna (A)  BI=r
(B) Geneve (B) fo=tar
(C) Versailles (C) aam™
(D) Pearl harbour (D) gl greiT
36 Wallace Smith Broecker is the man who 36. g Ay St &g NECH & 3
i coined and popularized which term? i ST Ty
(A) Post truth (A) e gy
(B) Green revolution (B)  afieT Yarererat
(C) Global warming (C) Foitaer arfater
(D) Sustainable development (D) ;qq-%?rsmr deaadic
37 Which one of the following divides India 37. ¥#Rd A 3cad AR Ao s A
into Northern and Southern parts? RS o & '
(A)  Equator (A) qACT @r
(B) Tropic of Cancer (B) e @
(C)  Tropic of Capricorn (C) #a Y@l & Fourmfeatha &
(D)  Arctic Circle (D) HRF ged
38. Which one of the following countries 3. QR@gT # ¥ Sl @7 37 Id &
shares longest border with India? T FER ST AT WIS T £
(A) China (A) et
(B) Bangladesh (B) Siaerrcer
(C) Nepal (C)  =Agrer
(D)  Pakistan (D)  urfereare
o 11
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39,

The method of impeachment of the

i) President of India is adopted from

40.

- 41,

42.)

(A) USA
(B) .UK
(C) USSR

(D) France

Who among the following was not a
member of the Constituent Assembly
established in July 19467
(A) Dr. Rajendra Prasad

(B) K. M. Munshi
(C) Mahatma Gandhi

(D)  Abul Kalam Azad

Where was the ‘Azad Hind Fauj’

founded?

(A) Thailand
(B) Britain
(C) ltaly

(D) Singapore

The Seven Pagodas of Mahabalipuram

are witnesses to the art patronized by

(A) Pallavas
(B) Pandyas
(C) Cholas

(D) Cheras

38.

40.

41.

42.

AR & Iegdia W AR HT e
HEl & IHIATS ITG?

(A) 3T

(B) &

(C) wfeaa @

(D) shiE

Prafafad & § @i Sell$ 1946 H
T GlaeneT T &1 TEET Al U

(A) =Tl vEE
(B) hwa. AW
(C) wglcAT el

(D)  3rer SHellA TG

HEEOIH & Gid 9asT fraes qamT
TRIEIT ol & IaTE 87

(A)  Toora

(B) dgzar

(C) dremw

(D) =&

12
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43. What is the pH of pure water? 43, g Siel &A1 pH #T fha=T giar &2
A) -4 N
|Bl=~7 (B) 7
|C). 8 (€) ©5
(D) : 12 (D) 12
44/ Which one of the following is not 44, Fr=Rf@d #§ @ 7di9d daifdT & QT
responsible for the global warming? PR 78 &
(A) Carbon dioxide (A) e SE3iToFATSS
(B) Methane (B) #Hrde
() GRS (C) Hruwar
(D) Slacked Lime (D)  =ifea =
45, The velocity of sound in moist air is |45. & gar & eafd & qr e g aﬁ',
< more than in dry air because the moist m‘ & 3O gar ¥ il 99 gar
air has .
A
(A) less pressure than dry air (A) S AT I Jolell H Fe @
(B) more density than dry air (B) YSH  gaT fr GECI a7 e
Yolcd
(C)  more pressure than dry air (C)  <[seh gaT T Jerer 3 ¥ gag
(D) less density than dry air (D)  <rseh gaT I oIl H HA Telea
46.. The term brown air is used for 46. 137 TIT 2Ue T YANET haah o
ferar arar g7
(A) industrial smog (A)  3iteifers AT
(B)  sulfureous smog (B) HWowITH AT
(C) acid fumes (C) vfas g3 :
(D)  photochemical smog (D) wIerhiAwer TATT
e 13
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47/

48.

49.

50.

Clothes keep us warm in winter because
they

(A)  supply heat

(B) do not radiate heat

(C) prevent air from contacting the

body

(D) prevent the heat of the body from
escaping '

Tesla is a unit of magnetic
(A)  Flux

(B) Induction

(C) Moment

(D) Field

The splitting of white light into its
components is due to

(A) Reflection

(B) Dispersion

(C) Refraction

(D) Transmission

Which of the following metals is used
for the
elements provided in electric iron?

manufacture of heating

(A)  Nickel
(B) Chromium
(C) Nichrome

(D) Tungsten

47.

48.

49.

50.

Hus & Al & I I@d § Fife

CH

(A) T @ it

(B) 3o faehioT & Y

(C) gar & WR & TIH & 3’ 4
AF

(D) o fr ft = IR FEwad @
JF

(A)  werrd
(B) ggeerT
(C) #ArT
(D) res

Id W H 38k HCH H TS
féaeh sRoT BT 87

(A)  YhorFTeT

(B) fEEdeiew

(C) Yyt

D) Fwfhee

fFrafaf@a & & fFa urg @1 3aaeT
fagga sEall # 3uersy Ao dedl &
fHToT & foT fRar ST &2

(A)  forper |

(B) wIfAIH

(C) Fowspie

(D) Zareest

14




Part-B: General Intelligence ;
and Reasoning AN07CGLT2023 AT F: AT g 3 Tk

i1 e P B T LR
PART-B: GENERAL INTELLIGENCE AND REASONING

5;/ A taxi driver commenced his journey 51. . ©& Fdr e o UH ﬁg T 39T
from a point and drove 10 km towards AT o i 3% 10 Bl 3eaw T 3T

nrorth' and turnéd to his left and drove 44 ;
another 5 km. After waiting to meet a Hell AT a1 3R HSHT S ToRaT

friend here, he turned to his right and 3R ool FE Tk ged @ fAeE
‘continued to drive another 10 km. He SdoIR &l & dI8, 98 39T arfger
has covered a distance of 25 km so far, ey 75 T 3 10 fR 3ﬂT T

but in which direction would he be
: ;| 98 I s 25 R Hr gl aw

now?
R T &, AfheT I g Toha e A

(A)  North : (A) . I’

() East =~ - B) &

(C) South™ (C) =fayor

(D) West ' (D) ufFEs

52./ Today is Varun’s birthday. One vyear 52. 3T 9¥UT & SeHAfET . 3sT & Ush
from today he will be twice as old as he . i e TRy 3112‘5 12 a§ vgd & e

'wa§_12 years ago. How old is Varun ;
- | SR g SR 3eT 9% fr 3H

today?

forctetr 87
(A) 20years ; 7 (A) 20 @y
(B) 22 years (B) 22 a¥
(C)  25vyears ' ' (C) 25 a¥
(D) 27 years (D) 27 af
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AT W: WA iy 3T aF

In questions no. 53 to 55, a series is given, with one term missing. Choose the correct alternative

from the given ones that will complete

the series:

ST WAt F 53 & 55 @, Th H@er & 7§ ¢, forwed vw ug e §1 R aw Rwed § ¥ 9

e Reeq ot ST AT HT QT FEm
53, SHG, RIF, QJE, PKD, ?
(A)  NME
(B) NLB
(€} < OLE
(D) OLC
547" - 7,8,18,57,7,1165
(A) 174
(B) 232
(C) 224
(D) 228
55, -1,0,3,2,5.6,7,12,9,20
(A) 9
(B) 10
< 7
(D) 8

53.

54.

55.

SHG, RIF, QJE, PKD, ?

(A)  NME
(B) NLB
(€): -OLE
(D) oOLC

7,8,18,57,?,1165

(A) 174

(B) 232

(C) 224

(D) 228

10,3,2,5,.6: 212,920
(A) 9

(B) 10

oy, -7

48 -8

In questions no. 56 to 60, select the related word/letters/number from the given alternatives:
g7 TEAT F 56 ¥ 60 aF, BT 7T [AFeut & ¥ GoOa rsalERIEEAT F WA B

56. 720:840::60:7
(A) 76
(B) 80
(C) 70
(D) 74
57. 2254+ 256.::289:7
v ,
- (A) 234
(B) 361
(C) 324
(D) 432
58_.} Money : Misappropriation : : Writing : ?
(A) Deception
(B) Mistake
(C) Plagiarism
(D) Theft

56.

57.

58.

720:840::60:?
(A) 76

(B) 80

(C) 70

(D) 74
225:256::289:7?
(A) 234

(B) 361

(C) 324

(D) 432

e %ﬂﬂw‘fr :: forger - ?
(A)  er@

(B)  drerdr

(€  wfgfcas arly
(D) =y

16
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59~ YTOJ : XSNI : : WRMH : ? 59. YTOJ : XSNI: : WRMH : ?
(A)  valG (A) vale
(B) TOIE () TOIE
(C)  RMHC (C)  RMHC
(D)  UPKF (D)  UPKF
60.  EIGK:EACY::RVTY: ? 60. EIGK:EACY::RVTY:?
(A) RVSQ (A)  RvSQ
(B) RNPL (B) RNPL
(C) RwWUY () RWUY
(D) RMPL (D) RMPL

Question no. 61 to 64. Study the given diagram carefully and answer the questions where
rectangle stands for business man, square stands for hard working, triangle represents artist and
circle represents singer.
yesT HEAT. 61 & 64. mwmmmﬂmmmﬁsﬁtmaﬁ?mammm

5 cyaarh safFa §, a9t &1 3rf &d Agea FE §, ﬁﬁwmmﬁﬁﬁm%sﬁt

I aF w1 Gt Fwar
10
3
7
AN
A2 %A4
e e
9
61. What is the number of hardworking |61. - ¥ AgeTdr sga@dal v d@Ear fhaar
businessmen who are artist but not ¥ S FaeR o § afed e A8
singer? %
73 IR ) (A) 12
(B) 8 (B) 8
€ 7 € 7
D) 9 (D) 9
62, How many singers are hard workers but | 62.  fac T AgaTcll § ofhel Sl
not artist and businessman? - 3T cTaEry A £7
(A) 6 (A) - 6
(B) 4 (B) 4
(C) 8 () 8
(D) None of these (D) o1 W @IS H'E?f
e 17
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5

66,

67./

What is the sum of the numbers which
represent only businessman and only
singer?

(A) 13
(B) 12
(C) 16
(D) 14

How many persons have all the four?

(A) 12
(B) 9
{€)-—2
(D) 4

A watch which gains uniformly, is
2 minute slow at noon on Monday and

4 minute 48 second fast at 2:00 p.m. on

the following Monday. What time it

ways correct?

(A)  2:00 p.m. on Tuesday
(B) 2:00 p.m. on Wednesday
(C)  3:00 p.m. on Thursday
(D)  1:00 p.m. on Friday

How many times do the hands of a clock
point towards each other in a day?

(A) 12
(B) 20
(c}. 22
(D) 24

A monkey climbs 30 feet at the
beginning of each hour and rests for a
while when he slips back 20 feet before
he again starts climbing in the beginning
of the next hour. If he begins his ascent

at 8:00 a.m., at what time will he first .

touch a flag at 120 feet from the
ground?

(A)
(B)
(€)
(D)

4:00 p.m.
5:00 p.m.
6:00 p.m.
None of these

63.

64.

65.

66.

1 67.

3T TEA3T H APT FAT § il hdd
gy AR Faer AE A AT 57

(A) 13
(B) 12
(6. /16
(D) 14

foraer safFadl & ar & AR 87

(A) 12
(B 9
{€) ..2
(D) 4

e Y St §HE ®9 ¥ §edl o,
HAHaIR F S9el 7 2 Ade ol gdr
¥ 3T 3T WiFEER @ g 2:00 S
4 BT 48 Vs AT giar ol Tg A
FHT GET aF F Terdl 87
(A)  FHIrera® @agY 2:00 o
(B) gwa’rq'stz:ooﬁ
(C) gwaﬁtrst&(}oﬁ
(D) Qamrraﬁmmoaﬁ}

w R & ud B ged R ar

T gAY T 3 FART Xl &7
(A) 12 _

(B) 20

(Y -9

(D) 24

TF el Uodd ©C T eI H
30 $c Tear § I FT T INH
FaT &, T 20 Hie 9 @Hes S
¥ 3k 3w " #r gesa H R d
e E H a1 ¢l A T HE
8:00 &sl 3TN TGS LE AT §, A
ag el ugel A ¥ 120 de H
Fag W ouq 38 & fRw wEy
I? |

(A)  4:00 gaTeat

(B) 5:00 gaTest

(©)  6:00 gates

(D) oI & IS AL

18
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88,

69,

- 70.

v J

If 'orange' is called 'butter', 'butter' is
called 'soap', 'soap' is called 'ink’, 'ink' is
called 'honey' and 'honey' is called
'orange', which of the following is used
for washing clothes?

(A) Honey
(B) Ink '

(C)  Butter
(D) Orange

Study the diagram given below and
identify the region representing girls
who are employed but unmarried.

Employed

68.

69.

afy A @ 'AeEe el Sdl g,
G WA FET A G, WL
I "TIET FET ST g, TR Hl AT
Fer o ¢ 3T 'vee @ ARel T
STy A AeRRa A d T ar g
FU e F Torw IuAier fomar ST 82

(A)  eBg
(B) wmwr
(C) @
(D) @A

AR RU v &y & eI w 3R
37 wsfadl &1 gaAfed @ drl
&7 I YgHleT Y il HRRA & olfehel
yfaafea €1

C&y

v Unmarried

(A)
(B)
(C)
(D)
Four forms of a dice are shown below.
In this dice which digit will be on the
surface opposite to the digit 4?

(8, 1 N ST

(ii)
(A) 1
(B) 2
() 3
/() 5
The Minute hand of a clock is in

North-East at 4:30. Then in which
direction the hour hand will be at 10:30?

South
North-West
West
North-East

(A)
(B)
(€)
(D)

70.

(ii1)

71.

(A) 1
(B) 2
(C) 4
(B)+5

TF U & IR ®9 S @ v gl
=7 U & 3iF 4 & QT a8 W
SieT IT 3iF GIEM? :

(iv)
(A) 1
(B) 2
(€ - 8
(D) 5
s gl fr Aee @ gé 4:30 §oF
SecR-qd # gl &1 ar fRe 10:30 o
He @ g3 fra fgur 7 g
(A)  gferor
(B)  Icar-gfdas
(C) ufggs
(D)  Ieat-qa

19
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%

w/

In a town, 65% people watched the
40%

newspaper and 25% read a newspaper

news on television, read a

and watched the news on television |

also. What percent of the people
neither watched the news on television

nor read a newspaper?

(A) 5

(B) 10
(€ 15

(D) 20

Sumitra has an average of 56% on her
first 7 examinations. How much she
should make on her eighth examination
to obtain an average of 60% on 8
examinations? '

(A)
(B)
(€)
(D)

88%
78%
92%
68%

A rectangular carpet has an area of
60 sq. m. If its diagonal and longer side
together equal 5 times the shorter side,
the length of the carpet is

(A)
(B)
(C)
(D)

8m
12 m
15m

145m

72.

V3.

74.

U AT H, 65% T Tofaed W
FAMER ¢E@T 8, 40% @97 TAER T
gad ¥ 3k 25% @T HEER 99 Ued

- § 3k ThRee W & IEER T gl

fhaer gfaed @1 & df Selifdasd W
AR 3@ § AR & & 3WIR ued

87

(A) 5
(8) 10
(C) 15
(D) 20

gﬁﬂmwm?ﬁqﬁ—oﬁ 7 ofreInsi H
T 56% g1 8 wdEmsi &F 3itads
60% 37 WIcd ¥ & ToIT 3§ 9=

3radt gdlet F fohd=r SAET Age?
(A) 88%
(B) 78%
(C) 92%
68%

(D)

Us HAAPR el T &Fthel 60 T
Mex &1 A gwT e A ad sm
Ao BIET e & 5 I F TN
gl, ar w1 oare §

(A) 8 &r

(B) 12 7

(C) 15 #r

(D) 14.5 #r

20




Part-B: General Intelligence

and Reasoning

ANO7CGLT2023

HET @ AT qfg 3T &

750

77/

Kim can do a work in 3 days while David
can do the same work in 2 days. Both of
them finish the work together and get
Rs. 150. What is the share of Kim?

(A) Rs.40
(B) Rs.60
(C) Rs.70
(D) Rs.75

In a certain code, ‘'CONVENTIONAL’ is
written - as ‘NOCNEVOITLAN’. How is
‘ENTHRONEMENT’ written in that code?

(A) TNEROHEMNTNE
(B) TNEORHMENTNE
(C) NTEROHEMNNTE
(D) TNEROHEMNNTE

Select the missing number from the
given responses.

(A) 64
(B) 121
() 81
(D) 100

75,

76.

e T & F 3 AT &7 FT Faar
¢ oafe Mg 3 wor W 2 R
T wFar ¥ arit fAesy HH 9
o & 3R 150 TOF Ut §1 e

feear o= &7
(A) 5. 40
(B) . 60
€ = 70
(B) % 75

U AfPad &g #, ‘CONVENTIONAL’

# ‘NOCNEVOITLAN' & &7 &
formr ST g1 3@ s A
‘ENTHRONEMENT && fer@ar Sirar
87

(A)  TNEROHEMNTNE

(B) TNEORHMENTNE
(C)  NTEROHEMNNTE
(D) TNEROHEMNNTE

fGr T 3cRT & @ ovd dEA
TIA Y |

(A) 64
(B) 121
(C) 81
(D) 100
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78.

80/'

(D) -

An official meeting is attended by 130
department employees. Of them, 66
drink tea, 56 drink coffee and 63 drink
juice, 27 can drink either tea or coffee,
25 can drink coffee or juice ard 23 can
drink juice and tea. 5 employees can
drink any of the three. How many
persons drink only tea?

21
22
18
20

(A)
(B)
(€

P, Q, R and S are four friends. P is
shorter than Q but taller than R who is
shorter than S. Who is the shortest

among all? -
(A) P

(B) Q
(C) R

(D) I

Eight people A, B, C, D, E, F, G and H are
placed as shown in the diagram. All are
facing in the outward direction. If all of
them move anticlockwise to three
places, then ' ' '

(A) Bis facing West
(B)
(€)

(D)

E is facing East
H is facing North-West
A is facing South

78.

79.

80.

TH NAERE dowm H O f[EAHET &
130 @Al s od §1 3 &
66 =@ did &, 56 @hr 9 § 3R
63 s W § 27 = A HE N
Tha & 25 @Hr A @ O whd ¢
3R 23 S R S @ whd
5 Gaarly dEt #F ¥ F o & W

¥ Rear ST e T 9 82

(A) 21
(B) 22
(C) 18
(D) 20

P,Q RINSI®BHEATE P, QEA

aTer § offhet R & ofa § Sl S & &rer
&1 @al & T AT HieT §?

(A) P
(B) Q
(€ R

(D) S

o 7 fG@r 3ER e @l A, B,
C, D, E, F, G 3R H & w@r arrm &l
el amex T 3R wEw g1 Afe I wr
qrATad R 7 e TuE WO ar

(A)
(B)
(€)
(D)

B & 7@ uftas #r 3N &

E qd fem & @5y &

H & 7@ Scck-afdas &1 3 &
A T 7@ EFEToT T 3R &

22
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81.

82.

83,

If in a code, MIND becomes KGLB and
ARGUE becomes YPESC, then what will
DIAGRAM be in that code?

(A) BGYEPYK
(B) BGYPYEK
(C) GLPEYKGB
(D) LKBGYPK

If 'eraser' is called 'box', 'box' is called
'pencil’, 'pencil’ is called 'sharpener' and
'sharpener' is called 'bag', what will a

child write with?

(A)  Eraser
(B) Box
(C) Pencil

(D) Sha'rpener

If DEER = 12215 and HIGH = 5645, how
will you code HEEL?

(A) 2328
(B) 3449
(C) 4337
(D) 5229

81.

82.

83.

If& DEER =

afg MIND et 15 A, KGLB &
srer ¥ 3R ARGUE Rt #1z &
YPESC & ST § , o 30 &g #
DIAGRAM &R g1mm?

(A)  BGYEPYK
(B) BGYPYEK
(C) GLPEYKGB
(D) LKBGYPK

I 'RER W Gled Hgl AT g,
St @ dRer wer S ¥, 3R
I 'eTdeR’ FET ST § 3 "ML w
PTG AT §, dr aer .ﬁ$¢n#
foream?

(A) T

(B) sfed

(€ 4w

(D) emdex

12215 3R HIGH =
5645 §, @ 319 HEEL & ¥ @ifsd
FHLN?

(A) 2328

(B) 3449
(C) 4337

(D) 5229

23
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Ey./ Select the missing number from the 84.

given responses.

ffw a0 3e’t & @ qod H@Edm @

TIT HY|

88 108 148

(A) 97
(B) 107
(C) 189
(D) 67
8}/ Complete the series: 85.
81, 69, 58, 48, 39, ......
(A) 7
(B) 10
{C} 22
(D) 31
8§. Write the next number in the series: 86.
2,5,4,9,8, 15, ...
(A) 14
(B) 27
(C) 81
(D) 36

(A) 97

(B) 107

(C) 189

(D) 67

Egl'@ﬂT o

81, 69, 58, 48, 39, ...
(A) 7

(B) 10

(c 22

(D) 31

AT H 3aTell FEar ford:
2 5 4.9, 8 15,
(A) 14

(B) 27

(C) 81

(D) 36

24
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Question no. 87 to 89. In each of the questions below are given three statements followed by
three conclusions numbered |, Il and Iil. You have to take the given statements to be true even if
they seem to be at variance from the commonly known facts. Read all the conclusions and then
decide which of the given conclusions logically follows from the given statements disregarding
commonly known facts.

e WEAT. 87 ¥ 89. A RU A yRAF WA & A Fua ik 3wF g |, 1 dR M FAST
et favwy T v & | AU R”T 0 FYAT F T AT ¢, ok @ § AT AT a9 I
e wdia g gil wolt faswst & 93 3 T ao =¥ F Re 7w Tswst & @ «ia ar g
e el Y ASRIE FNE §U R AT Huwl 1 arfde T § HEr Far

8}/ Statements: All dolls are windows. 87. HyT T a;r%m f@sfear g1 sl

All bottles are windows. Sigd fRefrat & @ en
All cars are bottles. AW
diae .

ey |, gl N f@sfear €1

Conclusions: I. All cars are windows.

Il. Some cars are dolls.

lll. Some windows are cars. . e FX Elf%l'lT ol
ll. & fEsfRar #r &
(A) OnlyIand Il follow (A)- el | 31X 11 37eTERoT Fd g
(B)  Only ll and Il follow ~ (B) Saer Il 3R I 3TEROT e J
(C)  Onlyland Ill follow (€ aer | 3T 1l 3T &
(D)  All follow (D) el sregERor Y

88/ Statements: All snakes are trees. 88. wye: T @i 9T G CERRSECT

Some trees are roads. All ¥ gsh gF s E
roads are mountains. _ ' '
Conclusions: |. .Some mountains are o | PG UGS T gl
snakes. S o
Il. Some roads are . e W
snakes. lll. ¥ 9ET5 U3 &
lll. Some .mountains are
trees.
(A)  Only I follow (A) el | ST HTETOT FAT &
(B)  Only Il follows (B)  dhaer Il &l 3TEROT FHIAl T
(C)  Only Iil follows . (C) aer 11l T FEOT T §
(D) Both I and Il follow (D) | 3R 1l ST 30T X §

e 25
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89.

g

Statements: Some towels are brushes.
No brush is soap. All soaps

89.

HYA: TG AT FA g1 FS §FU
T A §. @l A T f

are rats. ‘ .
Conclusions: |. Some rats are brushes. i . ] ﬂ;@ SR E
II. No rat is brush. II. @ TgT FU FAET B
ill. Some towels are soaps. I1l. e dlifeT gree &1
2 2

(A) None follows

(B)  Only either I or Il follows
(C)
(D)

Only 1l follows
Only | and lll follow

IS TELOT AGT Ll

(B)  hger @r @ | AT Il 3TER0T Y

3

(C)  ael Il 3TEIOT LT &
(D) eherer | 3R I 3reTaTor o §

Question no. 90 to 92 In each of the following questions, a number sequence is given in which
except one of the terms in the sequence are alike. You have to find out the number which is odd
in the sequence.

weeT WEAr. 90 & 92. mma#wmmﬁmm%ﬁmﬁmﬁwﬁm
ol ug WA §1 IR a7 WEAT A H § S g § e g

9. 8,27,64,125,216 90.  8,27,64,125,216
(A) 27 (A) 27
(B) 64 (B) 64
(C) 125 (€ 125
(D) 216 (D) 216
9, 24,18,222,82, 421 91. 24,18,222,82,421
(A) 18 (A) 18
(B) 222 (B) 222
(0 82 (C) 82
(D) 421 (D) 421
92/ 2,6,12,72,824 92. ©2,6,12,72,824
(A) 6 (A) 6
(B) 12 (B) 12
© 72 (€ 72
(D) 824 (D) 824

26
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93~ Rajesh walks 7 km to the north then 93. grer 7 AT Ieax T W TodT §
turns left and walks 3 km. Then takes fRee i 3R HEaT & 3k 3 fEen
another left and continue walking this oy !
kY ok
time another 7 km erward. How much ‘HE” el ﬁb‘l e IR 31? 3 31? S
distance in km is he away from the 7 TRt 3 Teem ST W 9%
starting point? uRfee fig & fRefr & fercet gl W
%-? .
(A)  10km (A) 10 .Y
(B) 6km (B) 6 for.H.
(C) 3km (C) 3 for.AT.
(D) 2km (D) 2 fR.AL
94, A group of 1200 persons consisting of o4, ?:’ﬁl.—(_r;r AT AT a gerd
cap‘btai;ls and solld_r)ierslcils tra\;‘elling in a 1200 safFadi 1 TF WHE T T #
train. For every 15 soldiers there is one ‘et
captain. The number of captains in the AT HT TGl e 1'5__) ) b
group is : WWW%IWﬁWﬁ
TEAT &
- (A) 85 (A) 85
(B) 80 (B) 80
(c 75 (€ 75
(D) 70 (D) 70
95.. An enterprising businessman earns an 95. Th 3231??@'& Igarl 39l caadrT
income of Re. 1 on the first day of his ¥ UEa R UH O A " ST
business. On every subsequent day, he : :
earns on income which is just double of Rl | e A E_[ feid, %5 SR
that made on the previous day. One the sfoia axar & o R e ﬁﬂ &
10" day of business, his income is GECEECEIE] ¥ cgga & 1049 Tt
FHT 37T BT &
(A) Rs.29 (A) % 29
(B) Rs.210 (B) 3. 210
(C) Rs.10 € = 10
(D) Rs.102 (D)  w. 102
e 27
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96/ "

J

-

97,

98,

99,

100.

- (D)

In a row of trees, a tree is 7 from left
end and 14" from the right end. How
many trees are there in the row?

(A) 18
(B) 19
(C) 20
(D) 21

If the time in clock is 12 : 23. What is the
time in the mirror?

(A)  12:33

(B) 11:37

{c} 12:37

(D) 1:23

Ravi and Priyanka celebrated their

anniversary on Friday, 4 February 2005.
When would they celebrate their next
anniversary on the same day?

(A) 2009
(B) 2011
(C) 2015

2010

" Ais the brother of B, Cis the father of D,

E is the mother of B. A and D are

brothers. How is E related to C?

(A)  Sister

(B)  Sister-in-law
(C) Niece

(D) Wife

Six members of a family namely A, B, C,
D, E and F are travelling together. ‘B’ is
the son of C but C is not the mother
of B. A and C are married couple. E is the
brother of C. D is the daughter of A. F is
the brother of B. How many male
members are there in the family?

(A) 3
(B) 2
€ 4
(D) 1

96.

97

98.

99.

100.

st fr v UfEd A, TH U 90 8RO
79 3T 20 BT ¥ 149 TIE 9T Bl

gfed & fraer U3 87
(A) 18

(B) 19

(€ 20

(D) 21

Fr g A gEg 12 : 23§ dreuor &
AT FAT §2

(A) 12:33

(B) 11:37

() 12:37

(D) 1:23

W ik B & gwar, 4 wEd
2005 & 39T WEERE A< 3 34T

f&sT 379=iT 79Tl TTEHRE el HATTIN?
(A) 2009
(B) 2011
(C) 2015
(D) 2010

A Barasg C D fUarg, E B
drArEIAARD MZEIE CH

FE yeR Hefta g2

(A)  sge
(B)  srafy

Q) oSl

_QF;ﬁ

T JRER & BF TeEd AU A, B,
C, D, E 3T F ' 91 I X &
g1 'B' C r der & dfhT C, B &1 Al
e &1 A 3R C fafea g &1 E, C
& S 21 D, A @ S&T Bl F, B &
3 1 IRAR # foerl I WaTT ©7
(A) 3

(B) 2

Q) 4
(D) 1

(D)

28



Part-C: Numerical Aptitude ANO7CGLT2023 AT I TEATCHS 9gdT

19T 9T: HEATcHS APl
PART-C: NUMERICAL APTITUDE

101~ The pair of numbers which are relatively 101. HEIHT &7 I gid ST TS q\rr): a

prime to each other is: H’qﬂﬂcﬁ T B
(A) (68, 85) (A) (68, 85)
(B) (65, 91) (B) (65, 91)
(C) (92, 85) (C) (92,85)
- (D) (102, 153) (D) (102, 153)

1% Moving -_6}— of its usual speed a train is 102.  3uelt @EeT afd @ g IS q Felad

10 min late. Find its usual time to cover grell & ¢ 10 TAae &1 & Tordr gl
the journey. AT T Fe H AHAT TAT AT
HITSTT
(A) 25 min (A) 25 feTe
(B) 15 min (B) 15 fF=ic
(C) 35min (C) 35 fA«iC
(D) 60min (D) 60 F=TT
103/1‘he HCF of (x° - le - 2x) and (x* +x%) is: 103. (¢ =x*-2x) 3T (x3+x?) FT HCF & :

(A) x*- X% - 2x (A)  x*-x*-2x
(B) x+x B " (B) xX*+Xx
(€)  x*x3-2x¢ ' €) x*x-2%

- (D) x-=2 (D) x-2

104, — How many three-digit numbers are 104. oA frae dT 3P gEad § o

there which increases by 396 when the qed 3T P 3 B Tow & ageR
first and last digit of the number is

interchanged?" W 396 a‘j:g Brelr &7

(A) 57 (A) 57

(B) 50 (B) 50

(C) 45 (C) 45

(D) None of the above (D) s=oH & HiS i FGT

foad 29
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105" A number when divided by a divisor 105. U% HEAT &I Joed O [ied s
Lt:laves“t_helremaliande_r ?--dW:in twice T NG 24 FOdr & o9 T T
e original number is divided by same
divisor, the remainder is 11. The value 1 el Jogl 34T e I # fasnfard e
of divisor is g7 9GS 11 3TAT §| HISh & AT
&
(A) 13 (A) 13
(B) 59 (B) 59
(C) 36 (C) 36
(D) 37 (D) 37
10}./ The breadth of a rectangle is 25 m. The 106. Ueh IRIA @ @S 25 FAX gl 39
total cost of putting grass bed on this N 9T T 7 Qe oo B er
field was Rs. 12375 at the rate of Rs. 15 ' - -
per sq m. the length of rectangle is AT 15 T S : T H
L 12375 &9 &Y, 3 1 F@a1s ¢
(A) 27 cm (A) 27 @&
(B) 30cm (B) 30 WA
(C) 33cm (C) 33 a#r
(D) 32cm (D) 32 &=
10}/ A common factor of [(41)* + (43)®]and | 107. [(41)® + (43)] and [41)"" + (43)"]
a1 a1y ... ' :
HAL A} T is: H T WA JOES §:
(A) (43-41) (A) (43-41)
(B) [(41)™ +(43)™] (B) [(41)* +(43)"]
(C)  [(41)* +(43)"] (© [(41)® +(43)%]
(D) (41+43) (D) (41+43)
1%./ If the areas of three adjacent faces of a '108. I v TR sy F 9T 3mHeT

cuboidal box are 120 cm?, 72 cm? and
60 cm? respectively, then the volume of
box is : '

820 cm®
720 cm®
750 cm?®
850 cm®

(A)
(B)
(C)
(D)

Belehl &1 &FHa 120 § FHD
72 ¥ 3T 60 e JAL, ar e
& I g

(A) 820 A

(B) 720 I

(C) 750 @’

(D) 850 TP
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109~ Given 168x32 = 5376, then 5.376:16.8 | 109.
is equal to
(A) 0.032
(B) 0.32
(€ 3.2
(D) 32

67.542) —(32.458)’
y,@./ The value of( ) ( ) is 110.
‘ 75.458 -40.374

(A) 1
(B) 10
(C) 100
(D) None of these
The population of a town increased 111.
from 1,75,000 to 2,62,500 in a decade.
The average percent increase of
population per year is
(A)  4.37%
(B) 5%
(C) 6%
(D) 8.75%

1},/860% of 50 + 50% of 860 = ? 112.
(A) 430
(B) - 516
(c) 860
(D) 960

/ Rs. 1210 were divided among A, B, C so 113.

that A:B = 5:4 and B:C = 9:10 then C gets
(A) Rs.340
(B) Rs. 400
(C) Rs.450
(D) Rs. 475

5376 f&Im AT g, dr
5.376+ 16.8 s ¢

168 x 32 =

(A) 0.032
(B) 0.32
(€) 3.2
(D) 32

2 2
(67.542)" —(32.458) RIp—
75.458 — 40.374
(A) 1
(B) 10
(C) 100

(D) 7 d & @IS gl

TH UF H TH gL I S=aedm
1,75,000 & sgT 2,62,500 @ S|
gy a¥ seraear # taa gad afg
e |
(A)
(B)
(C)
(D)

4.37%
5%
6%
8.75%

50 T 860% + 860 T 50% = ?

(A) 430 |

(B) 516

(C) 860

(D) 960

% 1210 1 A, B, C & &[T g0 YR
oS frar aar & AB = 54 3R
B:C = 9:10 @ C Wred 8iar &

(A) %. 340

(B) ¥. 400

(C) = 450

(D) w. 475
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114

11%

11}/

The diameter of a roller is 84 cm and its
length is 120 cm. it takes 500
revolutions to move once to level a
playground, then the area of playground
is

(A)  1632m?*
(B) 1584 m?>
(C) 1817 m?
(D) 1532 m?*

A sum of Rs. 1521 is lent out in two
parts in such a way that the interest on
one part at 10% for 5 years is equal to
that of another part at 8% for 10 years.
What will be the two parts of sum?

(A)
(B)
(€)
(D)

Rs. 926 and Rs. 595
Rs. 906 and Rs. 615
Rs. 916 and Rs. 605
Rs. 936 and Rs. 585

A person bought 8 quintals of rice for
certain rupees. After a week, he sold
3 quintals of rice at 10% profit, 3 quintal
of rice with neither profit nor loss and
2 quintals at 5% loss. In this transaction,
what is the profit?

(A)  1.5%

(B) 2%

(C) 2.5%

(D) None of these

A merchant had 50 kg of pulse. He sells
one part at a profit of 10% and other at
5% loss. Overall, he had a gain of 7%.
Find the quantity of pulses, which he
sold at 10% profit and 5% loss.

(A) 40kg, 10kg
(B) 40kg, 15 kg
(C) 40kg 12 kg
(D) 40kg 9kg

114. wep Yo &1 A1 84 THAT T 31T =wdr

115.

116.

117

darg 120 I &1 UF Wl & AT Fr
AT el & o0 Uh a) T &
500 TFR WO g, af Tl & HaweT

FT &R &

(A) 1632 #Hrer?
(B) 1584 #Hiex?
(C) 1817 #Hre?
(D) 1532 #He®

1521 *9& &7 URr & ar s 7 5@
g YR T Sar § foF U 9mT Y
5 aui & foIT 10% T saTer gay T
9 10 auf & AU 8% & I &
SNTEY T 19T & &I 9T hleT O giar?
(A) %. 926 3R %. 595
(B) . 906 3 % 615
(C) =% 916 3R %. 605
(D) % 936 3 . 585

@Wﬁ*«rﬁ@mﬁsﬁﬁw
I TSI UH HCAG & 918, 38T
3 fFdca am@er 10% oy W, 3
fFdee g o af oy 3R T & gl
W IR 2 fFded wm@d 5% @i oY
7| 8 oG H, TS T 87

(A) 1.5%

(B) 2%

(C) 2.5%

(D) o1t & FIg el

U&h IR & 9 50 fFer arer o)
dg Th AT H 10% o W AR gaxy
F 5% g T JTAT &1 For THereRT
3?%7%a-r!cﬁmar§3ma1#r£ra:rm
A AT, B 38T 10% oy 3k
5% BIfel 9 s=m|

(A) 40 fet; 10 forar

(B) 40 fwelr, 15 foreir

(C) 40 frelr, 12 forelr

(D) 40 feram, 9 fFamw
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¢

120.

©)

If five times the fifth term of an AP is
equal to seven times, the seventh term
of the AP, then what is the twelfth
term?

(A) -1
(B) 0
€ 1
(D) -2

If m is a positive integer and m® is
divisible by 48, then what is the
minimum possible value of m?

(A) 6
(B) 9
(cl, 12
(D) 24

Three candidates contested an election
and received 1136, 7636 and 11628
votes respectively. What percentage of
the total did the

votes winning

candidate get?

(A) 57%
(B) 77%
(C) 80%

90%

The sum of four terms in an AP is 64.
The product of the extreme terms is
220. Find the first and fourth term.

(A) 14,28
(B) 10,22
(C) 28,14
(D) 6,30

118.

| 119.

120.

121.

afe fadt AP & died e &1 gie a5,

AP & WIdd 9g & A AT & ST
&, dr INgar U &4r 87

(A) -1
(B) 0
€ 1
(D) -2

e m U GeeAS QUi § AR m?,
48 ¥ faamsa §, @ m & FgAAH
HHT AT T g7

(A) 6
(B) 9
() 12
(D) 24

e 3Fleart & uw gera osr
30 HAA: 1136, 7636 3T 11628
ngﬁlﬁﬂmﬁfﬁ

Fdr &1 fhder gfdera wred g3?
(A) 57% '

(B) 77%

(C) 80%

(D) 90%

Th AP & IR Y& & IqNT 64 Tl
A wel T IO 220 g TEem
AR glar ug g HifEwl

(A) 14,28

(B) 10,22

(C) 28,14

(D) 6,30
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12}/ Two vessels are filled with diluted

sulphuric acid, not up to the brim.
Vessel A has sulphuric acid and water in
the ratio 4 : 1 and Vessel B has water
and sulphuric acid in the ratio 3 : 2. If
twice of the volume of the sulphuric
acid solution in Vessel A is thrice of that
of vessel B, then what will be the
concentration percentage of sulphuric
acid in the new vessel C, where both the

vessels’ solution are mixed up?

(A)  65%
(B) 72%
(C) 78%
(D) Cannot be determined

1}7"/ {(476+424)* —4x476x424}=?

2906
3116
2704
2904

(A)
(B)
(€
(D)

121/ If 60% of -z—of a number is 36, then the

number is:
(A) 80
(B) 100
(© 75
(D) 90

122. g 9 o HeFIRe TR ¥ aR g

123.

124.

¢ W AN a% g s A
TerRRE s AR R w s
41 g 3R adT B & oo A
HeHgiReh TR &l 3qura 3:2 §1 4%
ST A #F wowRe vRs B 1 A
H1 QU S B % 3T B e
I &, o @C ST C A TR
uf@s @1 Aigor gfderd AT grem, St
gl St @ Ber R @ g2

() 65%
(B)

©
(D)

65%
72%
78%
T Agr AT S "ehdr

{(476+424) —4x476x 424} ="?

2906
3116
2704
2904

(A)
(B)
(C)
(D)

mwm&%wso%ss%,

dr 9g TEar &
(A) 80

(B) 100

(c) 75

(D) 90
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¢ 3 8- .7 Pl e B, o
125" = of = of — of 1664 is: 125. 4 F —HT -HIT —§
/5/ 4Of6 o 100166 is 166 i @1’6 1#4’5‘
(A) 648 (A) 648 ’
(B) 762 (B) 762
(C) 612 (C) 612
(D) 728 (D) 728

] 1 1 .
126. = part of a pencil is black and % part of | 126. 3 U GRSl FT TR AET @il g 3R

remaining is white. If the remaining part

%aﬁmm%iaﬁaﬁmsﬁm

1
is blue and length of blue part is 35cm .

¥ 3R e s A s 31 @l
then length of pencil is: 2 :

ar 9fer fr @ers
(A) 6cm . (A) 6 @Y
(B) 7cm (B) 7 @A
(c) 8 ém (C) 8 @
(D) 9cm ) (D) 9 Je
127 The value of 0.142857+0.285714 is : 127. 0.142857+0.285714 & AT &
(A 1 (A) 1
2 2
(B) 1 .(B) 1
3 3
(). 2 (c 2
(D) 10 (D) 10
kCad 35
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128// A rectangular courtyard 3.78 meters 128. " 3.78 #eT @¥ 3 5.25 Hew 92 ues

long and 5.25 meters wide is to be WIAER N # Y W T
paved exactly with square tiles, all of I
AT T Dk TSl T Uerepr fopar

the same size. What is the largest size of

the tile which could be used for the ST Bl TS 1 ey §3T 3R AT
purpose? ¢ fore 3ualT $0 387 & v fRar
| ST ThaT §72 |
\ (A) 14 cms (A) 14 a=r
(B) 2lcms (B) 21 @AY
(C) 42cms (C) 42 o=
(D) None of these - (D) s U @—g El

12§V When 0.36 is written in simplest 129. F« 0.36 I GiadH Pealicdsd &T &

fractional form, the sum of the 'I-_S'REIT.W"HT & ar 3ier 3R & @ awT
numerator and the denominator is?

BT 87
(A) 34 ' (A) 34
(B) 45 | (B) 45
(C) 114 (C) 114
(D) 135 (D) 135

130, Which is the closest approximation to 130. 3c9re 0.3333 x 0.25 x 0.499 x 0.125 x

the product 24 T FIFedH Tiewe FieT G 22
0.3333 x 0.25 x 0.499 x 0.125 x 247
(A) 1 (A) 1
8 8
(B) 3 (B) 3
4 4
(€ 3 c 3
8 8
(D) 2 (D) 2
5 E
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1}1/.

132/

13?/

What is the unit digit in (365 x 6% 7")?

(A) 6
(B) 4
[C) .2
(D) 1

The sum of 5 consecutive even numbers
A, B, C, D and E is 130. What is the
product of A and E? '

720
616
660
672

(A)
(B)
(€)
(D)

If a number is exactly divisible by 11 and
13, which of the following types the

number must be?

(A)
(B)
(€)
(D)

Divisible by (11 + 13)
Divisible by (13-11)

Divisible by (11 x 13)
Divisible by (13 + 11).

15}/ The LCM of two numbers is 20 times of

their HCF and (LCM + HCF) = 2520. If one
number is 480, what will be the triple of

another number?

(A)
(B)
(€)
(D)

1200
1500
2100
1800

131.

132

133.

134.

(3% x67x7") H 3PS 3iF FAT & ?
(A) 6

(B)

(C)
(D)

[ SR

5 ARG F JEasii A, B, C, D
3 E &1 A@wer 130 &1 A 3R E &
AUTAD FAT §7?

(A) 720

(B) 616

(C) 660

(D) 672

afe w9 wE 11 3R 13 @ qoin

fasmsa &, o 9g FEar MEeEd 7
q fohE PR T glail aIfgu?

(A)  (11+13) & fQemsw

(B) (13-11) & o=

Q) (11x13) & AH=T

(D)  (13+11) & T@#HT

ar wearst & LCM 3+& HCF &1 20-
@ § 3 (LCM + HCF ) = 2520 &I
g7 wH HEAr 480 §, dr gEll Hwedr
T F[oT SFaT BIem?

1200

1500

2100
1800

(A)
(B)
(C)
(D)
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1387 Ifxandy are integers and x +y is even, | 135. afy x 3R y qoiies & 3R x + y @A

which of the following must be even? ¢ @ BERRT § Y e oar e
| e aTfgu?
(A)  x (A) x
(B) vy (B) v
Q) xy ‘ (€) xy

(D) x(y+1) (D) x(y+1)

1?/ The sum of place value and face value of |136. 43836 # TUE AT 3R 3ifEHa A=

8in43836i.e. : 8 & AN AT
(A) 88 (A) 88

(B) 808 _ (B) 808

(C) 830 ; ) (C) 880

1}7.' The sum of natural numbers which are 137. == YTl HEAT3HT &1 T S 100 &
divisors of 100 is

TS §,
(A) 116 (A) 116
(B) 117 (B) 117
Lo R A (€ 21
(D) 217 f | (D) 217

138/’ When —71- of a number is subtracted from 138. F« —;- RdT AT H ¥ U EAT TeT

the number itself, it gives the same & ST g, (—.ﬁ ae ﬁ’ﬂi’a‘ ¥F T Fom

value as the sum of all angles of a S aer % " ¥

triangle. The number is ) ‘ o
HEAT &

(A) 224 (A) 224

(B) 210 (B) 210

(C) 140 ‘ (C) 140

(D) 120 (D) 120

38 e
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13}/ The Unit's digit of the given 139. T T hold 787 x 562°° x 970 T
expression78%% x 56°°° x 97'**is: T
(A) 6 (A) 6
(B) 5 (B) 5
( 4 (c) 4
(D) 3 (D) 3

O & Ucdd Geld HI Pl AT The

140/ Fach face of a cube can be painted in 140.
black or white colour. In how many ST ¥ @ ST GEAT ¥ U @ fhae
different ways can the cube be painted? 3
3ot YR I TN ST Hehell 872
(A) 9 (A) 9
(B) 10 (B) 10
() 11 (¢} - 11
(D) 12 (D) 12
141. What will be the remainder if 468 is 141. Jfz 468 @1 192 ¥ T fear v
~ divided by 192? o Srwe T BRI
(A) 16 (A) 16
(B) 49 (B) 49
(C) 64 .(C) 64
(D) 21 (D) 21
142 Let N = 3029282726..4321 be a larger | 142. #elr N = 3029282726.4321 TF &1
number. What will be the remainder Hear & @ N & 9 ¥ e T
when N is divided by 97 ‘ .
- : ST @ AV FAT EE?
(A) 5 (A) 5
(B) 6 (B) 6
cy 7 [C} 7
(D) 8 (D) 8
e 39




Part-C:

Numerical Aptitude

ANO7CGLT2023

NI I: GEATeHE T9gar

1 43/

: 14y

14V

A five-digit natural number s
considered and is divided by the sum of
the digits of the number. What can be
the highest possible ratio?

(A) ‘22222
(B) 9090.9
(C) 9999
(D)

10000

If an eight-digit number 537867AB is
divisible by 6 or 7 or 9, then what is the
value of ordered pair (A, B)?

(A) (3,6)
(B) (9,6)
€ 72
(D) (5,4)

A merchant mixes water in purest form
of vinegar and sells it at the cost price. If
he sells 2 litres of the mixture at Rs. 110

~and gains 22.22%, find the quantity of

water in it before selling?

(A) 36379 ml
(B) 363711 ml
(C) 364611 ml
(D) 33679 ml

The average of five consecutive positive
integers is M. If each term is decreased
by 2 and five consecutive integers of the
old series are included, then the new
average is

(A) Increased by 1.5

(B) Increased by 0.75

(C) Decreased by 1.5

(D)  Average remained the same

143.

144,

145.

146.

Ui el BT UE Ufde @edr iR
TH Ig HEAT & 3R F AT A
Fanfaa fFar srar &1 3w=oaa g@afaa
3FJUTeT AT & ehell 872

(A) 2222.2
(B) 9090.9
(C) 9999

(D) 10000

537867AB T&F 316 m N gEar g
St 6 a7 I 98 [Jusw g a
ST ZIA (A, B) T AT T 57

(A) (3,6)

(B) (9,6)

€ (7,2

(D) (5,4)

U AT R & Y&add &7 A 96T
fAeMAY oETd Hed W d=ar g1 I
g% 2 oreX @Eor 110 30 &7 d9ar §
3R 22.22% T MH UICT AT &, ar
S d g =@ uEl T AET Ad
H| ;
(A)
(B)
(€)
(D)

36379 AL
363711 e
364611 e
33679 e

i FAET UeeHE Ui F1 st
M &1 3f& 9d% ue &1 2 @ wer fear
ST AR QU H@e & gl HA
it @ e &Y Rar s, ar e
T g

(A) 1.5 &1 9fg g8

(B) 0.75 #r 3f& g

(@ 1.5 @l g8

(D)  3irere @@ w1
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147

-

%

If a number is multiplied by three -
fourth of itself, the value thus obtained
is 10800, the number is: :

(A)
(B)
(C)
(D)

210
180
120
160

Twice the difference between two
numbers is equal to their sum. If larger

~ number is 15, then another number is:

1y'

(D)

?/

(A) 12
(B) 10
(€)Y =5
(D) 9

If the area of a regular pentégon is
1253 sq cm, then length of each side
is: '

(A)
(B)
(C)

15 cm
16 cm
18 cm
25cm

Three cubes of sides 1cm, 6 cm, 8 cm

‘are melted to form a new cube. Half of

surface area of new cube is:

(A) 243 cm?
(B) 463 cm?
(C) 486 cm?
(D) 493 cm?

147.

148.

149.

150.

I T T&AT T 3T de-es J
IO fRAT ST, A e #ier 10800 g,
& &
(A) 210
(B) 180
(C) 120
(D) 160

ar HEAs & A & AT H AN
3T AET & SER gl I 98T dEdr
15 &, dl gl HEdT &

(A) - 12

(B) 10

{8). 5

(D) 9

g vw TEffa duie @ S
12531 @ &, a udF em
CCIENCE

(A) 15 @Y

(B) 16 @

(C) 10 Jah

(D) 25 @

1 91, 6 @1, 8 QT a3l arel Al
Tt P AR TH AAT O S
ST §1 A g T AT Adg &bl
& ' ‘
(A)
(B)
(C)
(D)

243 FA?
463 T’
486 ¥H
493 ¥+’
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PART-D: General English

Find one word substitution:

1‘;5./One who cannot be easily pleased-

(A) Cosmopoliitan
}5’1/. A hater of knowledge and learning: (B) Frightening
(B) Philologist : (D) Feminist
(C) Misogynist
(D) Misologist
. Fil in the blanks with appropriate
1/52./ Commencement of words with the same ' prepositions:
letter
(A)  Pun b
B) Alliteration '
(B) 156./9he/ succeeded dint  of
(C) Transferred epithet perseverance and hard work.
(D)  Oxymoron (A)  with
(B) by
93{' A sad song: (C) to
(A) Ditty (D) for
(B) Knell
(C) Dirge
(D) Lay 157, -Birds were seen moving one
’ place to another place
; change of seasons.
154,-A person who loves everybody:
(A)  to, with
(A) Cosmopolitan
(B) from, with
(B) Fratricide
) (C) from, for
(C)  Altruistic
(D) Aristocrat (D} with; for
42 e
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15 e hinted some loss of 1%0 is creating this mess?
s me (A)  Who has been created this mess?
(A)  at (B) By whom has this mess been
(B) for created?
(C) on (C) By whom this mess is being
ted?
(D) with create

She has not read anything

Monday.
(A) from
(B) for
(C) on
(D)  since

In the following questions, a sentence has

been given in Active/Passive Voice. Out of the
four alternatives suggested, select the one
which best expresses the same sentence in

Passive/Active Voice.

1§}A/remember my sister taking me to the
‘museum. '

| remember | was taken to the
museum by my sister.

(A)

(B)

| remember being taken to the
museum by my sister.

(C)

| remember myself being taken to
the museum by my sister.

| remember taken to the museum
by my sister.

(D)

By whom is this mess being

(D)

created?

Whe boy laughed at the beggar.

(A) The beggar was laughed by the boy.

~(B) The beggar was laughed at by the
boy.

(C) The beggar was being laughed by

the boy.

The beggar was being laughed at by
the boy.

(D)

163, Fhey drew a circle in the morning.

(A) A circle has been drawing since

morning.

(B)

In the morning a circle have been

drawn by them.

A circle was being drawn by them in

(€)

the morning.

(D) A circle was drawn by them in the

morning
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Rewrite the following sentences in indirect

speech:

164/1’ said to my classmate, "Please lend me

your cycle."

(A)

(B)

(C)

| ordered my classmate to lend me

his cycle.

| advised my classmate to lend me

“his cycle.

| requested my classmate to lend

me his cycle.
(D) I forbade my classmate to lend me
his cycle.
1657 Daman says, ‘Priya s working in

Ahmedabad.’

(A)

(B)

(€)

(D)

Daman say that Priya was working

in Ahmedabad.

Daman said that Priya was working

in Ahmedabad.

Daman said that Priyva works in

lal

Ahmedabad.

Daman says that Priya is working in

Ahmedabad.

16‘56/The teacher said, "What is the matter?"

(A)

(B)

The teacher asked what the matter
is.
The teacher asked what the matter

had been.

The teacher asked what was the

matter.

The teacher asked what the matter

was.

162 Tsaid to my friend, "Can you swim"?

(A)

(B)

(C)

(D)

| asked my friend whether he could

swim.

| asked my friend whether he can

be swim.

I asked to my friend whether he can

swim.

| asked my friend whether could he

 be swim.

_ 1@8./She said, "l am coming just now."

(A)

(B)

(C)

(D)

She said that | was coming just
then.

She told that she has been coming

just then.

She said that she is coming just

now.

She said that she was coming just
then.

44



Part-D: General English

ANO7CGLT2023

STRT &I: WA 3Tl

Fill in the blanks with the correct modals.

y./ You

pay for the damage

done!

(A
(8)
(©

(D)

170. We
e i

could

would

dare

should

to do a lot of work

before the event starts.

()

(B)

(C)

(D)

1711~ |

would

need

having

are

and check the

go

arrangements downstairs.

(A)
(B)
(C)

(D)

should
would
might

can

In the following. questions, the underlined

part of the sentence may need improvement.

Below are given alternatives which may

improve the bold part. Choose the correct

alternative.

NOTE: In case no improvement is needed, your

answer is No Improvement.

)J«Z./’With no rain and’ any access to clean

water many farmers will lose their crops.

(A)
(B)
©

o)

17

There is no rain and no
Without rain and nor
Without any rain or

No improvement

en she regained consciousness she

was ‘stretched in the ditchout’, soaked to

the skin.

(A)
(B)
(€)
(D)

out in the ditch stretched
on the ditch outstretched
outstretched in the ditch

no improvement
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Read the following passages carefully and
answer the questions given below.

Aristotle considered human nature, habit and
reason to be equally important forces to be
cultivated in education, the ultimate aim of
which should be to produce good and virtuous
~ citizens. He proposed that teachers lead their
students systematically, and that repetition be
used as a key tool to develop good habits,

unlike Socrates' emphasis on questioning his

listeners to brin‘g out their own ideas. He

emphasized the balancing of the theoretical

and practical aspects of subjects taught, among
which he explicitly mentions reading, writing,
music, physical education,
and a wide range of

mathematics,
literature, history,
sciences, as well as play, which he also
considered important.

During the Medieval period, the idea of
Perennialism was first by
St. Thomas Aquinas in his work "De Magistro".
Perennialism holds that one should teach those
things deemed to be of everlasting importance
to all peopIeA everywhere, namely principles
and reasoning, not just facts, which are apt to
change over time, and that one should teach

formulated

first about people, not machines or techniques.

"It was originally religious in nature, and it was
only much later that a theory of secular
perennialism developed.

During the Renaissance, the French skeptic
Michel de Montaigne (1533 - 1592) was one of
the first to critically look at education.
Unusually for his time, Montaigne was willing
to question the edifice wisdom of the period,
calling into question the whole edifice of the
system, and the implicit
assumption that university-educated
philosophers were necessarily wiser than
uneducated farm workers, for example.

educational

17/4./What according to Aristotle was the

ultimate aim of education?
(A) Cultivate habit of human nature

to lead

(B)

Systematically teachers

students to good habits
To produce righteous citizens

(€)

(D)

To bring out students own ideas

175/Tﬁé word ‘Renaissance’ is derived fro-m

the language.
(A)  English

(B) Italian |
(C) Latin

(D) French

17%keptic is a person

(A)  Who is rational in thoughts

(B) Who denies the possibility of
knowledge

(€)  Who believes in rational thinking

(D)  Who accepts knowledge of all types
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177.

e

Perennialism was first developed by
(A) Aristotle
(B) Plato
(C)

(D) Michel de Montaigne

Thomas Aquinas

98./Explicitly is antonym of-

(A) Overtly
(B) Implicitly
(C) Utterly
(D) Impishly

Read the cloze passage below and choose the

best answer:

Jeans have become one of the most worn

pieces of clothing in the world. Everybody
R | i

farmer to the urban lawyer and from

them, from the rural

medels to housewives. But why have
jeans become so o A eyl get

many answers. For some people they

look cool, for e (B jeans are

simply comfortable. Jeans were first

(4)

designed durable trousers
for farm workers and miners in the states
of the American west. A Nevada tailor,
Jacob Davis, had the idéa of using copper
bolts at the corner of the pockets to
make them stronger. They became

popular ) and soon many

people bought them.

179,
(A)
(B)
(C)

(D)

oose the best answer for (1).

wears
are wearing
was wearing

will wear

1woose the best answer for (2).

(A)
(B)
(C)

(D)

'popu!ar
outdated
expensive

infamous

1/81./Choose the best answer for (3).

- (A)
(B)
(€)
(D)

182,
(A)
(B)
(C)
(D)

another
the others
others

the other

hoose the best answer for (4).

for

183~ Choose the best answer for (5).

(A)
(B)
(€)
(D)

vaguely
instantly
slowly

comfortably

47




Part-D: General English

ANO07CGLT2023

HT & HHAT 3730

Choose the correctly spelt word.

184,A) Referigerator
(B) Refridgerator
(C) Refrigerator

(D) Refriderater

WA) Parliamentery

(B) Parlimentary
(C) Parliamentary

(D) Parlamentary

186.~1A) Recedeing
(B) Reeceding
(C) Receeding
(D) Receding

1%) Beligrent

(B) Belligerent
(C) Belligrent

(D) Beligerent

18§/(A) Beguele

(B) Beiguile
(C) Baguile
(D) Beguile

Find the misspelt word.

189, (A) Advocacy
Fa
(B) Aristocracy
(C) Democracy

(D) Courtecy

19%) Surveillence
(B) Stupefaction
(C) Preferential

(D) Detrimental

19}/(A) Recommend
-(B)  Alluminium
(C) Cemetery

(D) Satellite

192,7(A) Radiant

(B) Salient
(C) \Valiant
(D) Brillient
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Find the correct synonyms for the given

words.

H}SUM'PTUOUS

(A) Delirious
- (B) Gorgeous
(C)  Perilous

(D) Luxurious

194 CRUTABLE
(A) Difficult
(B) Mysterious -
(C) Inflexible

(D) Wary

195. LOQUACIOUS.
(A) Talkative
‘(B) Thirsty
(C) Beautiful

(D) Complicated

196~ TEMERITY

(A) audacity
(B) fearfulness
(C) shyness

(D) stupidity

words.

192-TOMINOUS

(A) clear
(B) .dim
(C) brittle

(D) clever

198 AWE

(A) borrow
(B) shallow
(C) low

(D) contempt

199, TUND
(A) round
(B) unimportant
(C) thin
(D) dull

200-MALODOROUS

(A) acrid
(B) pungent
(C) fragrant

(D) delicious
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